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“inal Exam

You will be able to make a maximum of 60 points. There are a few pieces of advice we can
offer at this stage:

I. Use the theoretical tools and terminology you have learned in class and from the text-
book.

2. Make sure there is a clear structure in your argument. (Use some time to sort your ideas
before you start writing the version you want to submit.)

3. Use the time you have! If you are ready much earlier than we planned you should won-
der if you forgot something.

4. Remember: people have to be able to decipher what you write.

5. Leave a margin for our comments, so we can give you a more detailed feedback than
Just the number of points.

Here is the set of problems:

Examiner: Prof. Dr. B. Wolff

Please solve four (4) of the following six (6) problems (maximum of 15 points per prob-
lem):

You are welcome to use a dictionary and a calculator.

Problem 1: Multiple Choice

Write the answers to each question on the answer sheet, not on the problem sheet. For each
incorrect answer, one point will be deducted for that particular question. If no solution is
given on your answer sheet, you will neither gain nor loose a point.

1. All but one of the following is a problem in owner/manager (principal/agent) conflicts.
a) Choice of effort.
b) Perquisite taking.
¢) ldentical time horizons.
d) Differential risk exposure.

2. Organizational architecture varies from firm to firm. The three big external (exogenous)
determinants of a firm’s administrative structure are:

a) decision rights, rewards, and technology.

b) government regulation, technology and decision rights.

¢) government regulation, technology and markets.

d) decision rights, rewards, evaluation systems.

[N)

3. Decision control is made up of:
a) initiation and ratification of projects.
b) implementation and monitoring of projects.
¢) ratification and monitoring of projects.
d) initiation and implementation of projects.

4. Alfred Chandler, the noted business historian, indicated that “the administrative load of t}
senior executives increased to such an extent that they were unable to handle their entrepre-
neurial responsibilities efficiently.” He was speaking of the:

a) U-form of business organization.

b} M-form of business organization.

¢) matrix form of business organization.

d) None of the above.

5. In the benchmark competitive case, the firm will expand the hiring of employees until the:
a) MRP is less than the market wage rate.
b) MRP is equal to the market wage rate.
¢) MRP is greater than the market wage rate.
d) MRP is the universe of the market wage rate.

6. Compared to owners, employees receive a large fraction of their incomes from their em-
ployers and are consequently very dependent on the fortunes of that company in the market-
place. From a ‘risk-sharing’ perspective, an employee tends to prefer

a) a flat salary.

b) output-based incentive pay.

¢) year-end based performance pay.

d) None of the above.

7. If TruLite’s basic production employee receives an hourly wage of
Comp = $5.15 + .05 Q where Q is the number of light switches installed per hour, then:
a) $5.15 is the basic incentive to produce.
b) Q is completely dependent on random elements in the production system.
c) $0.05 is the incentive to increase effort.
d) effort is unimportant in this production system.

8. Nonmarket transactions refer to:
a) purchase in the a spot market.
b) vertical integration.
¢) long term contracts.
d) both bandec.
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